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&5 K 4 ﬁqé; Tﬁﬁb\(i)@ﬂﬁ%ﬁ jj(gilicn-ié & 4 Tﬁﬁﬁg\;ﬁzggﬂi ﬁ? jj(gilicn-ié & 4 ;.%3 J:ﬁn*m\(?)@tt% jj(gzlzcn%é X 4 J:ﬁﬁb\(ﬁ)())tb% z.%;f jj(gz;m%)é
; 100kN/MZ#8 % % - ~ -[3mEEZD ~ - -| 100kN/mM%#8 %% - ~ -|3mEBZS ~ -
Zhst ~ ZhLst ~ ZThst ~ ZhLlst ~
2 100kN/mMZ#8 % % ~ -[3mEEZD ~ -| 100kN/mM%# %% ~ -|3mEBZS ~
Zhst ~ ZhLst ~ Zhst ~ ZhLlst ~
3 100kN/MZ#8 % % ~ -[3mEEZD ~ -| 100kN/mM%#8 %% ~ -|3mEBZS ~
Zhst ~ ZhLst ~ ZThst ~ ZhLlst ~
4 100kN/mMZ#8 % % ~ -[3mEEZD ~ -| 100kN/mM%#8 %% ~ -|3mEBZS ~
Zhst ~ ZhLst ~ ZFhst ~ ZhLlst ~
5 100kN/mMZ#8 % % ~ -[3mEEZD ~ -| 100kN/mM%#8 %% ~ -|3mEBZS ~
Zhust ~ ZhLst ~ ZThst ~ ZhLlst ~
¢ 100kN/mMZ#8 % % ~ -[3mEEZD ~ -| 100kN/mM%#8 %% ~ -|3mEBZS ~
ZThst ~ ZhLst ~ ZFhst ~ ZhLlst ~
. 100kN/MZ#8 % % ~ -[3mEEZD ~ -| 100kN/mM%# %% ~ -|3mEBZS ~
ZznLst 1.00 | 0.00 ~ 4.74 59.07 | =hst | 0oo ~ 474|179 9.69 ZznLst 1.00 | 5.00 ~ 56.00 59.07 | #nLs | 500 ~ 5.00)1.79 9.569
3 100kN/mMZ#8 % % - ~ -[3mEEZD ~ -| 100kN/mMi%#Z % - ~ -|3mEEZ S ~ -
ZznLs 1.00 | 0.00 ~ 6.34 79.72 | =nLSY 000 ~ 000|171 915 ZznLst 1.00 | 6.00 ~ 745 79.72 | EnRS | 600 ~ 745|171 915
P 100kN/MZ#8 % % ~ -[3mEEZD ~ -| 100kN/mMi%# %% ~ -|3mEEZ S ~
ZznLs 1.00 | 000 ~ 6.35 79.87 | =N | 000 ~ 635 1.73 9.24 ZznLst 1.00 | 6.00 ~ 745 79.87 | TS | 600 ~ 745|173 9.24
70 100kN/mMZ#B % % ~ -[3mEEZD ~ -| 100kN/mMi%# %% ~ -|3mEEZ B ~
ZznLs 1.00 | 0.00 ~ 264 34.60 | ThS | 000 ~ 264|244 13.07 ZznLst 1.00 | 5.00 ~ 56.20 34.60 | =N | 5,00 ~ 620|244 13.07
17 100kN/mMZ#B % % ~ -[3mEEZD ~ -| 100kN/mMi%# %% ~ -|3mEEZ S ~ -
ZThLS ~ Zh s ~ ZhLS ~ Zh st ~
19 100kN/mMZ#8 % % ~ -[3mEEZD ~ -| 100kN/mMi%#Z % ~ -|3mEEZ S ~
Zh LS ~ Zh s ~ ZhLS ~ Zh st ~
13 100kN/mMZ#8 % % ~ -[3mEEZD ~ -| 100kN/mMi%# %% ~ -|3mEEZ B ~
ZznLs 1.00 | 000 ~ 4.49 55.99 | Ths | 000 ~ 449|197 10.57 ZznLst 1.00 | 5.00 ~ 56.20 55.99 | =nLs | 500 ~ 520|197 10.67
14 100kN/mMZ#B % % ~ -[3mEEZD ~ -| 100kN/mMi%# %% ~ -|3mEEZ B ~
ZznLst 1.00 | 0.00 ~ 448 556.84 | ThUS | 000 ~ 448|193 10.32 ZznLst 1.00 | 5.00 ~ 56.00 55.84 | =nLs | 5,00 ~ 500|193 10.32
P 100kN/mMZ#B % % ~ -[3mEEZ D ~ -| 100kN/m%# 2% = -|3mZEREZ S =
zh st ~ Zh st ~ zh st - Zh st =~
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= = T2 A\ - ) =] = 2 7] 3
&S K % (”mé; e w/m | B 9’\ B f(m) (m) | (kN/mi) = 2”&_6 (m). -(T) (kN/rr) a e -(T) <m>_ (kN/m)
100kN/ % #8 2% - = “|3mEBAD . || W s e , — ; ; ;
16 2Rt - 5 = - -l zhust - - . - Zhust . ilias - -] Thust
- - — T = (smemza| - -
100kN/ Mm% % % ~ || 3mEEZD Ll bR = B .
17 2Rt B -~ - -| =hpist - - - = ZHh L - g . _ %*Lu_”‘
100kN/m%i#B 2z 5 ~ “|3mEEZD 2| HO0KN/ iz .5 : - : | PrERAD - 500\ 1.72 923
15 Thilst 1.00 | 000 ~ 478| 5951 | Thust |voo ~ 478|172 9.23 Thilst 1001500 ~ 500| 59.51| Thist | 5.00 ] . 7
100kN/m%i#B 2z 5 - ~ “|3mEEZD 2| HO0KN/ i 2.5 : - : | PrERAD - 00| 1.85 991
. - : 00 ~ 6 , .
9 Thilst 1.00 | 000 ~ 536| 6691 | Thus | 0o ~ 536|185 9.91 Thilst 1.00 500 ~ 600| 6691 3%:;;; 5.00 .
= B} : = j S - -13m -~
100kN/M%#B% % - ~ || 3mEEZD Ll bR X B .
20 1 o 1 - denpsn |- e | zhus | -~ - | EASH
> : T R Temz@za| - -
100kN/ %4825 = “|3mEBAD L Wi 2 e — ; ; ;
T znun 1T = | znost | - 1 | zhus I | Zhout
: e = mEREAD -
0N MERR ~ 3MERZ D 100kN/MZEHEZ % mnu% -
Zhuist ~ Thuist ThE = 3%,&33_ Z
= 1248 = ~ BA ~
OO MERA - SMEREZ D 100kN/mMZEHEZ % mhu% -
Zhuist ~ Thuis Thist = 3%,&33_ Z
= 12418 = ~ BA ~
OO MR - MEEZ D 100kN/mMZHEZ % mhu% -
Zhuist ~ Thuis Thist = 3%,&33_ Z
= 12448 = ~ BA ~
N MR - MEEZ D 100kN/mMZEHEZ % mhu% -
Zhuist ~ Thuis Thist = 3%,&33_ Z
= 1248 = ~ me ks A ~
OO MR - MEEZ D 100kN/mMZHEZ % s -
Zhuist ~ Thuis Thist = 3%,&33_ Z
= 12418 = ~ me ks A ~
OO MR - MEEZ D 100kN/MZHEZ % s -
Zhis ~ Ths chpst . 3%533 2%
= 1% 38 Z ~ meka A =
0N MR - MEEZ D 100kN/mMZHEZ % s -
Zhuist ~ Thuis Thist = 3%,&33_ Z
= 1% 38 Z ~ meka A =
100N/ MZ A % ~ ImEBAS 100KN/MEREZ S A .
Zhuist ~ Thuis Thist = 3%,&33_ Z
= 1% 38 Z ~ mekaA =
100kN/ %% % ~ ImEBRS 100kN/MEFEZ S Zrsh -
LS ~ Zh LS LS ~
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HR3—2 BEYICERT HLBESNHEEET HFER0/1) i} _ BT
2MERMOME | BMES | 15840253 | BT | e RS L 4
) SERIHhD T in(ZkEEd 5L i SMERIHA
ﬁg TREOBEBOSILEHOKRES TREDHBEEILEHOKRES TEFEOBRBOEILHDOKRES TREOHBESLADKRES
&S X 4 Er%:né){ ‘Fﬁﬁb\(ﬁ)@ﬁ%ﬁ jj(gilch)é X 4 ‘Fﬁﬁﬁ%@&)};ﬂz '(r%;? jj(gilch)é X 4 ﬁa)k J:ﬁﬁ‘ﬁb\(‘z)wtt'.%' jj(lfifn?)é X 4 J:ﬁﬁ‘ﬁb\(‘:)wtl:'.%' z.%r'nz_)k jj(lfifnié
7 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zhst -~ = — — zhst — - ~ — —| #hst - ~ — — —
2 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zhst -~ = — — zhst — - ~ — —| #hst - ~ — — —
3 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zhst -~ = — — zhst — - ~ — —| #hst - ~ — — —
100kN/mM%BZ 5 ~ ImEHBZRD ~ 100kN/mM%#B% % ~ IMEBZD ~
zhst ~ zhst ~ zhst ~ Fhst ~
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/mM%#B% % ~ IMEBZD ~
zhst ~ zhst ~ zhst ~ Fhst ~
100kN/mM%EBZ 5 ~ ImEHBZRD ~ 100kN/mM%#8% % ~ IMEBZD ~
zhst ~ zhst ~ zhst ~ ZFhest ~
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/mM%#B% % ~ IMEBZD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhnLst ~ ZhnLst ~ ZhLst ~ zhnLst ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
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